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1. were fEIcaRe Poemm Te fim - 1x6=6

Answer the following as directed :

(a) TS SECH! IRER F[ T |

The cobweb model is represented by
using

(i) AT T ST AN

first order difference equation

(ii) Ao TIF (3T AP

second order difference equation
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(b)
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(2)

(iti) SRFA FNPI

differential equation

(iv) SIS TrEy I OIS T

None of the above

(o Taach! TR et )

( Choose the correct answer )

9O s @99 TE x 9 y o TN
CHqS 37

The slope of an indifference curve in
case of two goods, x and y is

. dy v
1 —_— = -
Y iy
o Ay WU
uny —=-—
B o
e Ay

i) —=0
(i) o

(iv) S°F® TCHY FII Al

All of the above
(7 Tecl AR Sferea )

( Choose the correct answer )
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(3)

(c) EETRI OG0! for |

State the Euler’s theorem.

(d) CES Teoma Foi74 01 ¢ Sears F41 |

Mention one property of CES production
function.

(e) Tf%
= 70 dy_p
y ’ Z &

If
dy
=70 =
Y dx

() SFCHA 7R RSP SREATOR HSCo! {1217 |

Write down the equilibrium condition
for a discriminating monopolist.

2. o R @ qot R e/ oy G fon @ 4x2=8

Write short notes on any two of the
following :

(@) TIEE OF
Cobweb theorem
(b) I2TH GICHIOA AT
Multiproduct monopoly firm
(c) =R @Al
Expansion path
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3. REers @ w19 Qe fafdwerca awd F @
Reeers @ ¥6 @uleE ofe Te | 2+9=11
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What is an indifference curve? Mathematically
prove that an indifference curve is convex to
the origin.

&</ Or

FY-TINNR BeoAT Fofera CIFEPTIR SICEAGAT 34T |

Discuss the properties of Cobb-Douglas
production function.

9T G0N JORME [3F J@ET TGS 79
Reemiess <@ W W OWRRT P Fw
TR, =53 -4Q, WF TR, =29 -3Q,, WF ¥ IN
T TC=20+5Q IS Q=Q,; +Q,. S O
TR ST TR SR (QF Q) HF 723
I @ (ARF AR,) fiefy s |

A monopolist discriminates prices between
two markets and price equations are given by
TR, =53 -4Q; and TR, =29 -3Q,, while the
total cost function is given by TC =20 +50,
where Q = Q; + Q,. Obtain profit maximizing
output (Q; and Q,) and prices (AR, and AR,)
of first and second market.
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(5)

¥Qq1/ Or

O GO TP Tarht qom Beslwe 2AfSHAS

BT FRCR, S G2 oo ofeda o VAT
T GO

2
TC, =10-20Q, + Q] &® TC, =15-16Q, +20,

3T T AW T AR =50 -20Q, (3% Q= Q, + Q)
A, (0B (qed 439 A 58w afepme J
T Teorm e fife qeRer Fefy 394 |

A monopolist produces his product in
two different plants” ‘and total cost
functions of the two plants are given by

2
TC, =10-2Q, +Q; and TC, =15-16Q, +2Q,

If the average revenue function is given by
AR =50-2Q, (where Q=0Q, +Q,), then find
his profit maximizing output to produce in
the first plant and second plant and his
maximum profit. |

5. N9E SR 5w Toa S @157 T Gl W3
SR Q4 =20-6F, WF Q  =-3+6P,_;. PJ
SR ey =47 32
Given the demand and su

cobweb model )
Qs =-3+6P,_;. Find the

pply functions for
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T et ww qfeen 6 g7 T
Q=2L'K 2 ab Seeysy wo o7 , (em Tw
f‘;‘:‘g’;‘ A S ooy speme BT

'O OQa Srerer sy | 2+10=12

What
do  you mean by homogeneous

Production function? If Q =213k 2 ig of the
linear homogeneous .

of the above function. orem in support

6. UG TSR

U= x? +3xy—5yz’@‘$ﬁ}fI =:jqp i

x » Py, =3 9
THEER AA T6 | SACSISTE ST 211
IS x SF Yy AR [efy w40 -
The utility function of a consumer is given
by, U= x? +3xy-5y>, P, =%2, P, =%3 and
income of the consumer is 6. Find out the

combination of x and y at the time of
equilibrium.

<1/ Or
TR TRAMA T PN FIE SR TR I e
tatz C=2L+5K, ¥© L W¥ K @& = ¢

T | TR T Q=LK. M Teoma ~fme
Q=40®,C@@LWKN[W%W«1W|
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(e

A producer desires to minimize the cost of
production C=2L +5K, where L and K are
labour and capital respectively subject to the
given product function Q=LK. Find the
equilibrium combination of L and K in order
to minimize the cost of production when
output, Q =40,

LB

"’
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